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Question #52 (99 >0) Which of the following is not a continent ?

A. [ ] North America

B.[ ] South East Asia
C.[ ] Australia
D.[ ] Antarctica

Question #53 (<9< 50) Which of the following is not an ocean ?

A. [ ] Indian
B.[ ] Caribbean
C.[ ] Atlantic
D.[]

Pacific

Question #54 (<9< >0) Which of the following is the opposite of “Subtraction”?

A ] Multiplication
B. [ ] Division
C.[ ] Addition
D.[ ] Exponentiation



Question #55 (=¥<1>0)

A. [ ] Football, Penalty

Which of the following pair doesn’t match with others ?

B. [ ] Cricket, Leg Before wicket

C. [_] Boxing, Knock Out
D.[ ] Hockey, Run

Question #56 (<9< >0)

Read the following sentence -

“My cat sleeps all day on top of my reading table.”

What underlined word in the above sentence is a noun?

A. ] sleeps
B.[] on
C.[] my
D.[ ] table

Question #57 (<9< >0) Translate the following into English ?

SPIE CACF (B A==

Question #58 (=<1 >0)
“I sailed the boat”.

A. [ ] present tense

B. [ ] past tense

C. [] present perfect tense
D.[ ] future tense

Question #59 (¥ >0)
A. [ ] teach, taught

B. [ ] laugh, laughed

C. [] spend, spent

D.[ ] think, thinked

Question #60 (<9< >0)

Choose the correct tense of the verb in the following sentence.

Which of the following is not correct ?

Translate the following into Bengali -

35 A AR TS JCm N Arseifer affel forcafmeT |
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Question #60 (<9< >0) Translate the following into English -
35 A AR TS e N Arseifer affel forcafeeT |
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